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A) Answer the following questions. 

1) Why do we need a Central Government?  

Ans: We need a Central Government to look after the needs and 

welfare of the people of India.  

2) Why has India been divided into states and union territories? 

Ans: India has been divided into states and union territories 

because it is difficult to rule such a big country. 

3) Where are the important offices of the Central Government located? 

Ans: The important offices of the Central Government are 

located in New Delhi. 

 

 

B) Fill in the blank  

1) There are 28 States and 9 Union Territories in India. 

2) We should be proud of our country India. 

3) There are more than 120 crore people living in India. 

4) The Central Government looks after the whole country. 

5) Delhi is the Union Territory with the states of the National Capital 

Territory. 

 

 

 



C) True and False 

1) India extends from Kashmir in the north to Kanyakumari in the south. 

True 

2) The State Government consists of the President, the Prime Minister 

and several other ministers. False 

3) There are 29 states and 7 union territories in India. False 

4) Delhi is a Union Territory with the status of The National Capital 

Territory. True 

5) The State Government looks after the whole country. False 

 

 


